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BSCCH-101/CH-01 
Inorganic Chemistry-I/vdkcZfud jlk;u 

Bachelor of Science (Chemistry) 
BSC – 12/16/17 

First Year, Examination-2019 
   Time: 3 Hours                       Max. Marks : 40 
 
Note : This paper is of forty (40) marks containing three   

(03) Sections A,B and C. Learners are required to 
attempt the questions contained in these sections 
according to the detailed instructions given there in. 

uksV%  ;g iz'u i=k pkyhl (40) vadksa dk gS tks rhu (03) [k.Mksa d] 

[k RkFkk x esa foHkkftr gS] f'k{kkfFkZ;ksa dk bu [k.Mksa esa fn;s x;s 

foLr`r funsZ'kks ds vuqlkj gh iz'uksa ds mÙkj nsus gSA 

Section-A/[k.M&^d* 

(Long Answer Type questions) (nh?kZ mÙkjksa okys iz'u) 

Note: Section ‘A’ contains four (04) long answer type 
questions of nine and half (9½) marks each. 
Learners are required to answer two (02) questions 
only. 

uksV%  [k.M ^d* esa pkj (04) nh?kZ mÙkjh; iz'u fn, x;s gS] izR;sd iz'u 

ds fy, lk<+s ukS (9½) vad fu/kZfjr gS] f'k{kkfFkZ;ksa dks buesa ls 

dsoy nks (02) iz'uksa ds mÙkj nsus gSA 
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1  Define Quantum number. Describe all the four 
quantum numbers. Write all the four values of 
quantum numbers for the last electron of potassium. 

 (atomic number of potassium is 19) 
 DaokVe la[;k dks ifjHkkf"kr dhft;s] lHkh pkjksa DaokVe la[;kvksa dk 

o.kZu dhft;s] iksVkf'k;e (ijek.kq Øaekd 19) ds vkf[kjh bysDVªku 

dh pkjksa DaokVe la[;k;sa fyf[k;sA  

2  What do you understand by polarizing power and 

polarizability of ions. Describe the different factors 

affecting it. 

 vk;u dh /zqo.k {kerk o /zqoh;rk ls D;k le>rs gks] budks 

izHkkfor djus okys fofHkUu dkjdksa dk o.kZu dhft;sA  

3  Write a brief note on the following 

 (a) Anomalous behavior of Li 

 (b) Role of Na+ and K+ in biological system 

 (c)  Fluorides of Xenon. 

 fuEufyf[kr ij laf{kIr fVIi.kh dhft,A  

 (v) yhfFk;e dk vlkekU; O;ogkj 
 (c) tSfod ra=kksa esa Na+ o K+ vk;uksa dk ;ksxnku 

 (l) tsuku ds ÝyksjkbM 

4  Why is diborane classified as an electron deficient 
molecule? Give two method for the preparation of 
diborane. Discuss the structure of diborane. 

 Mkbcksjsu dks bysDVªku dh deh ;qDr ;kSfxd D;ksa dgk tkrk gS] 

Mkbcksjsu cukus dh nks fof/;ksa dk o.kZu dhft;s ,oae mldh 

lajpuk ds ckjs esa crkb;sA  
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Section-B/[k.M&^[k* 

(Short Answer Type Questions)@(y?kq mÙkjh; iz'u) 

Note: Section ‘B’ contains eight (08) short answer type 
questions of four (04) marks each. Learners are 
required to answer four (04) questions only. 

uksV%  [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn, x;s gSA izR;sd iz'u 

ds fy, pkj (04) vad fu/kZfjr gS] f'k{kkfFkZ;ksa dks buesa ls dsoy 

pkj (04) iz'uksa ds mÙkj nsus gSA 

1. Explain the shape of I cl-2, SF4, NH3 and H3O+on the 
basis of valence shell electron pair repulsion 
(VSEPR) theory. 

 I cl-2, SF4, NH3 and H3O+ v.kqvksa dh vkd`fr dks la;kstdrk 

dks'k bysDVªku ;qXe izfrd"k.kZ fl¼kUr ds vk/kj ij le>kb;sA  

2. Write a short note on any two of the following  

 (a) Physical significance of ψ and Ѱ2 

 (b) Hund’s rule 

 (c) Shapes of s, p and d orbitals 

 fuEu esa ls fdUgha nks ij laf{kIr fVIi.kh fyf[k;s  

 (v) ψ vkSj Ѱ2  dk HkkSfrd egRo 

 (c) gq.M dk fu;e 

 (l) s, p o d d{kdksa dh vkd`fr 
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3. Explain why LiCl is covalent where as NaCl is ionic 
in nature. 

 le>kb;s D;ks LiCl lgla;ksth gSA tcfd NaCl vk;fud ;kSfxd 

gSA  

4. What are interhalogen compounds. Explain in 
detail. 

 vUrj gSykstu ;kSfxd D;k gksrs gS\ foLrkj ls le>kb;sA 

5 Why do non-metal have a greater electron affinity 
than metal atoms. 

 v/krq ijek.kqvksa dh bysDVªku ca/qrk /krq ijek.kqvksa ls vf/d D;ksa 

gksrh gSA  

6. Draw molecular orbital diagram for NO molecule 
and mention its bond order as well as magnetic 
behavior. 

 NO v.kq ds fy;s MO fp=k vkjsf[kr dhft;s ,oa bldh cU/ 

dksfV ds lkFk&lkFk pqEcdh; O;ogkj Hkh crkb;sA  

7. Explain why nitrogen forms only NCl3 but 
phosphorus forms PCl3 and PCl5 both  

 O;k[;k dhft;s ukbVªkstu ijek.kq dsoy NCl3 cukrk gS tcfd 

ÝQkWLÝQksjl ijek.kq nksuksa  PCl3 o PCl5 

8. What are carbides? How many types of carbides be 
classified? 

 dkckZbM+l D;k gS\ fdrus izdkj esa dkckZbM~l dk oxhZdj.k fd;k 

tk ldrk gSA  
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SECTION C / [k.M&^x* 

Objective Type Question / oLrqfu"B iz'u 

Note:  Section ‘C’ contains ten (10) objective type questions 

of half (½) mark each. All the questions of this 

section are compulsory. 

uksV%  [k.M ^x* esa nl (10) oLrqfu"B iz'u fn, x;s gSA izR;sd iz'u ds 

fy, ,d (½) vad fu/kZfjr gS] bl [k.M ds lHkh iz'u vfuok;Z 

gSA 

1. The outer most electronic configuration of copper 
(29) is 

 (a) 3d44s1 (b) 3d54s1 (c) 3d94s1 (d) 3d104s1 

 dkWij (29) dk ckâ;re dks'k bysDVªkWfud foU;kl gSA  

 (a) 3d44s1 (b) 3d54s1 (c) 3d94s1 (d) 3d104s1 

2. Atomic radii of elements in the periodic table from 
right to left 

 (a) decreases   (d) increases 

 (c)  remains constant  (d) None of these 

 ijek.kq f=kT;k vkorZ lkj.kh es nk;sa ls ck;sa tkus ij  

(a) ?kVrh gS   (b) c<+rh gS 

(c) fLFkj jgrh gS   (d) buesa ls dksbZ ugha 
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3. Bond energies in NO, NO+ and NO- are such that 

 (a) NO>NO+>NO-  (b) NO->NO>NO+ 

(c) NO+>NO->NO  (d) NO+>NO>NO- 

NO, NO+ o NO- esa cU/ ÅtkZ dk Øe gSA 

 (a) NO>NO+>NO-  (b) NO->NO>NO+ 

(c) NO+>NO->NO  (d) NO+>NO>NO- 

4.  Which of the following statement is not correct for 
diborane? 

 (a) It is an electron deficient molecule 

 (b) It has bridge structure 

 (c) It is paramagnetic molecule 

 (d) It has 3-center 2 electron (3c-2c) bond 

 Mkbcksjksu ds fy;sa dkSu lk dFku lR; ugh gS\ 

 (v) ;g ,d bysDVªku dh deh okyk ;kSfxd gSA 

 (c) bldh lsrq lajpuk gSA 

 (l) ;g ,d vuqpqEcdh; v.kq gSA  

 (n) blesa rhu dsUnz nks bysDVªku cU/ (3c-2c) gksrk gSA  

5. Aluminium chloride exists as deiner, Al2Cl6 in solid 
state as well as in solution of non polar solvents. 
When dissolves in water gives. 

 (a) Al3++3Cl-   (b) [Al(H2O)6]3+ 

 (c) [Al(OH)6]3- +3HCl  (d) Al2O3+6HCl 
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 ,Y;qfefu;e DyksjkbM f}v.kqd Al2Cl6 ds :i esa Bksl voLFkk esa 

v/zqoh; foyk;dksa esa feyrk gS] ikuh esa ?kksys tkus ij ;g nsrk gSA  

 (a) Al3++3Cl-   (b) [Al(H2O)6]3+ 

 (c) [Al(OH)6]3- +3HCl  (d) Al2O3+6HCl 

6. Sulphur reacts with HNO3 to form 

 (a)H2SO3   (b) H2SO4 

(c) SO2    (d) SO3 

lYÝQj HNO3 ls fØ;k dj cuk ysrk gSA  

 (a)H2SO3   (b) H2SO4 

(c) SO2    (d) SO3 

7. If one cation and one anion are missing from their 

position in a crystal lattice, the defect produced is 

 (a) Schottky defect  (b) Frenkal defect 

 (c) n-type defect  (d) p-type defect 

 ;fn fdlh fØLVy tkyd esa ,d /uk;u vkSj ,d ½.kk;u viuh 

fLFkfr ls vuqifLFkr gksrs gSa rks ;g nks"k dgykrk gSA  

 (a) 'kkVZfd nks"k   (b) ÚSUdy nks"k  

 (c) n - izdkj nks"k   (d) p - izdkj nks"k 
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8. Silicon hydrides are 
(a) Ionic hydride (b) Covalent hydride 

 (c) Metallic hydride (d) Complex hydride 
 flfydku gkbMªkbM gSA 

 (a) vk;fud gkbMªkbM  (b) lgla;kstd gkbMªkbM 

 (c) /kfRod gkbMªkbM   (d) tfVy gkbMªkbM 

9. Among these pentoxide, the strongest oxidizing 
 agent is 
 (a) N2O5   (b) P2O5 
 (c) AS2O5   (d) Sb2O5 

 buesa ls dkSu lcls etcwr vkDlhdj.k vfHkdeZd gSaA 

 (a) N2O5   (b) P2O5 
 (c) AS2O5   (d) Sb2O5 
10. Shape of XeOF4 is 

 (a) Octahedral   (b) Square pyramidal 

(c) Pyramidal   (d) T-shaped 

XeOF4 dh vkd`fr gSA  

(a) v"VÝQydh;    (b) oxZ fijkfeM 

 (c) fijkfeM   (d) T - vkdkj 

 

***** 


